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O (4x+7) (4x+6) @ (2x+3y)?
® (6x—4y)? @ (7x+2y) (Tx—2y)
® (—3x—4y)? ® (5+6x)(5—6x)
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®© 102x98 @ 99°

® 103° @® 95x104
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© (4x+7) (4x+6)
= (4x)%+ (7+6) X4x+7 X6
=16x*+ 52x + 42
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® (6x—4y)?
= (6x)2—2 X4y X 6x + (4y)*
= 36x°— 48xy + 16y*

® (—3x—4y)?
= (=3x)?-2X4yx (=3x) + (4p)°
= Ox?+ 24xy + 16y°
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@ 102x98
= (100+2) (100—2)
=100*— 2
=10000 — 4
=9996

® 103*
= (100+ 3)*
=100+ 2% 3% 100 + 3°
=10000 + 600 + 9
=10609
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@ (2x+3y)”
= (2x)*+2x3yx2x+ (3y)*
=4x"+ 12xy + 9°

@ (7x+2y) (7x—2y)
= (7x)*= (2y)*
= 49x” — 4y*

® (5+6x)(5—6x)
=5%— (6x)°
=25 — 36x°

@ 99
= (100-1)*
=100°—2x1x100+ 12
=10000— 200+ 1
=9801

@ 95%x104
= (100—-5) (100+4)
=100*+ { (=5) +4 | x100+ (—5) x4
=10000—100—20
= 9880
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